arcsec

60

40

20

arcsec
o

2](degrees)

o[m

-20

NGC 2684

60 40 20 O 20 40 60
arcsec
7 L]
j | | ‘ | | ‘ 1 ‘ | | ‘ | | T»
60 -40 20 0 20 40 60
arcsec
A E
- Aq E
2 Ag E
3 /-
0 10 20 30 40 50 60
-+ i + i
I + ++ ++++++++;
s . .
- ++++++ ]
L -+ + 4
C T .
[ Jr + ]
- ++ E
. + ]
0 10 20 30 40 50 60

Radius (arcsec)

0.20

0.15

10.10

10.05

111-0.05

-0.10

-0.15

-0.20

60

40

20

arcsec
o

-60

0.25

0.20

0.10

0.05

-60 -40 -20 0 20 40 60
arcsec

h= 13" -

h= 18" |

B h= 3.0° |

0 10

20

30

40

Radius (arcsec)

50 60

0 10

Q..

Qo & -
Qhalo—corr .
b - saw

rhalo-corr .
Qb

ngar—only -

rbar—only .
Qb = ==

(anr-only) halo-corr -

(rbar—only)halo—corr .
Qb '

QT(rbar) Cee

Q[llalo—corr(rbar) -

€.

20

30

40

Radius (arcsec)

Amax .

2 = ==
Fao @ ae
AolToar) -
Amax .

4 = s
Vmax

3.6um

7o 26.25

L
o

50

1 124.97 5 km/s

Vi eum(Rop) 1+ 123.07 7 km/s
drVaeum(0) 1 171.27 355 km/s/kpc
My/M,(<Rop) © -

a:..
V .

oo * omee



